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TUEG: F : IYTSATI -G / (ST -Taaer

Section A : Unseen Reading Comprehension

GUE: @ : TS hY | T -
Section B : Writing Skills

QUS: 7T : ITTIRHATHT, | IR T

Section C : Applied Grammar

V{QUS:.H : qied-STaaieny, / afsa- et

Section D : Reading Comprehension

g9 ;

Instructions : v

() SIS S99H SR GueT: Gt |
59 5 -U § TR GE & |

This question paper has four sections.

() TR GUSH ST STV TR T AT G 1T |

Il GUS & IR T &1 STTg WA d Tore &1l | |

The answers to each section must be written at one place.

(i) T SR T A

52/1

J97-95 @ I A 1@ |

Don't write answers in the question paper.

(tv)  TETHE FIAYATIERY, STEYITHT AT |
| YT-UF % JHR Y -G v & fora g |
Write the question number according to the question paper.
(v)  HEA ST I GEEaT saan |
Tt 71 o IR AeFd § [o71gg |

Answer all the questions in Sanskrit.

12 3THT:

12 3T

28 3T

28 3T



TUS: ‘&®
(Section A) ; ’ :
TS - HATA Y (FUfed FTIUT) | . 12 3En

~ (Unseen Reading Comprehension)

1. a%ﬁ%rf@aqaa?@zqﬁw SERIMSIERCSIGR
| frefarRaa s1g=eis i veam Tou Te wot < 3w difem :

Read the following passage and answer the questions given below:
Trd:shret: 3Tl Ay HTe: WIWWW@:%WW:@,
TS | Tel TeRTR: U WeRTT: Wafer | Wien: - 7 9wint | WeRor WRy Wegk
et Tt | ey seent Saey = ffienfy gt feafR Ay v s
Rl | wfiaer: aTg: Teh| Seol STaTeReT G, TG | WHoTfe: JE:
SHT: 3TMY yoft | e a3a ST FaAfad | 3 Jrem: Y IAEY I5-ad
graf< shisf< =11 9 o7 o= af=) uE: At gee: | e g8y Fai |
APl Shiel~i, BOM: g, faeem: = g9 fUaf=i| 1y 9 5 Wehrly
o wiesf= | T g@ﬂﬁ'—ﬁ ST ST, el T3 Tafer | 8= T

Reticcrl
o |
1 3w R e o |
3 I e farfa | |
Choose the correct answer and write the samé. ' 1x2=2
(31) TR s%f%raa{{f%ﬁwﬁr?
i yHm
(i) Ot
(i) S
(iv) 3TUHR: |
(F) AT M & q1S I1331d ?
() IS
(i) 9HI=
(11)) HEEH
(iv) e |

52/1 3 " [P.T.O.



I qiEmeRE |
ot e 1 I AR | |
Answer in a complete sentence. - 2x2=4
(i) e Iy o FaEi ?
(i) wRyFRwafa?
I Vedfaerede: 3fuay s foean forad |
fr e fyeedt § & 3hm 3o g frfau )
Choose the correct answer from the given options and write the same. 1x4=4
1. ‘woTeRen S e i e o ey ?
() e
(i) gaeA
CHIR el
(iv) HYE:|
2. ‘v gl fharew wgue R SR 7
() sRom -
(i) @
(i) W
(iv)  SFT:
3. 3 vl e iR 3t A Y T S TR 7
(i) W |
(i) =
(i) @
(v) et | - |
4 o s duee o s fres g ?
‘ (i) TSI
() g
(i) 32fa
(iv) e

52/1 | | 4



IV 376 ST=Ra T I ¥ide firean frad |
70 TR o foTu Iuzeh Tfides g fflau |

Choose the appropriate title for this passage and write. | 1x2=2
(@) g -
(i)
(i) TSI ST
(iv) Q{aq@vﬂ T |
| wue: ‘@’
(Section B) ' .
| AT Y (EATE wE) . 123rET:
(Writing Skills) | ' |

2. i ufe ferfaay s WWW@ T -
gﬁﬁlm@mmwml@dmﬁwﬁﬁqwﬁﬁwm

The following letter is written to daughter. Complete it with the help of

the words glven in the box below _ : 1/z><8 4

T e T b
T TR TR | R @ e e 3 fTeg| s get e
Ea' ) R e T e T A ? ST
ST Wﬂﬁwﬁsﬁf%@’glmcaﬂ =] | 31«»@14?:? @QMLL&TF%H
vl (Vi) mgwﬁw |

T
GRaw:, e, e, Herier: , TR, o, 90T, SR |

52/1 5 | [P.T.O.




3. rHieT- oA 9 TeS[RI SEUEH] HEEadl Tgy Sk §d
= e e fom &1 guia w9 # i T veEl i uEean 9w gk gt §
Fhifera - |
Describe the following picture in four Sanskrit sentences with the help of
the words given in the box below : | 2x4=8

HSTHT

IS, F&M:, UEHT:, I, TSI, qEA0T: | hegeh:, 8, Fegehd, T, AN,
Afer, wf<, Iufawa, wwfa, el o, s, el s, W,

o [
=, ®elq, ST |

J9ET OR
et aTayg: (Fae IEAT % o)
(For Blinds only)

oSl eAueHl WEEe Rt sy wgy SRpaeey T
e # R g wdt o v § Frfiaiaa e w AR gwgd aeEt § o
agess fafaw: | _

Write a paragraph in four Sanskrit sentences on the following topic with

the help of the words given in the box below : : o v 2x4=8

o REre:

| gral:, &, fommet, vamyg, 3R, shiemv, gHﬁmm:, DA, JEhId:,
wat, wf, Taf=, ureaf=, shief=, gem:, yammam:, arep deenriwT: |

521 | | 6



@ue: T
, (Section C) , .
AT ~TATHIOY (ST ATHOT) 28 3T
(Applied Grammar) :
4. aﬁﬁ%ﬁ@gmﬁﬁmmm%@a
N ﬁmmﬁmﬁﬁaﬁ AT W8 FHlh [AE :

Write the underlined words of the following 4sen"tences after joining or
disjoining Sandhis : - 1x4=4

O T+ e wE TR

(i) TN wed Eg + AR

(i) : + d "R ! |

(w) wﬁm%ﬁmmﬁmamﬁw-wwqavhﬁn

5, aﬁ%ﬁaﬂa@g%@%ﬁwmﬁuﬁmmﬁmﬁw %x?aﬁ%«l@a
ﬁm‘%@aaﬁaﬁﬁ%@r&aqﬁwwmﬁﬁ%mmﬁmﬁﬁw

Choose and write the correct compounded or expounded form of the

underlined words of the following sentences : ‘ : 1X6=6
() T g A |
() waafame
(i) we= s
(1ii) ﬂ'l'q’ﬁﬁ?ﬂﬂl -
(@) aeTF: mvﬁamﬁaqémwgr{ T IS WEfd |
(i) e
(i) IOHEN,
(iii) GrfeTaTeT |
() dagr: (aTer: ) TEE: S|
@) ‘frﬂ@w
(i) dd g
(i) HEFIATE: |

52/1 7 | [P.T.O.



(U) E[__g"_%—cff_ (Q&‘T) m?ﬁ‘ﬂ%l
OICERTSIIE]
(i) SEH et IfEH o

(iii) - ST AT HHIER: |

(=) 5 aefig W wfte SR v

() FuRIE:
(i) FTIRE
(i) FemstiEq|
() gerea Ty e 7 Fef |
(1) e
(i) 3IUIL:
(i) TFE

6. aﬁ%@w@gi@mmwﬁmﬁmmmw‘

ferereu s : Terean forae

- Frafafad st 4 vt q‘cﬁ%x@ﬁf -] TRl SIS T 3?4%%{%33%?[

IR ferepedl § | e farfaw -

Write the underlined words of the following sentences after joining or

disjoining suffixes to the roots or words, selecting the correct answer from

the options given below :
() g+ g AR A |
() #E
(i) et
(ii)  shre=g |

(@) 4T + A dTereh Higsh J=3 |

() e
() HEHAFR
(i) HRHFR|

52/1
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() Yepd: THORA + ] WA |
() Ui '
(i)  TEofterar
(iii) Ui |
() Wﬂﬁ%ﬁvﬁsﬁmaﬁw:ﬁaﬁl
(i) ARG + BTY,
(i) TR + Y,
| (i) HAET + | I
7. oriRadETREE: EE: g - A s
| frefTRaa <Y Sl o g o Awaia QU T 9ET o THIT-TRT i SIS

Write the words of the following two sentences after joining suffixes to the
roots or words given in the brackets : - » 1x2=2

(i) IR (TEd + @) T SHi |
(i) T EIET (W + 2 A= |

8.  srehfeiRacarey RereormTh aesm wed: 3f: sreame: e fored -
| - Freferfa st foch Tt o e v 3 o e 3fir st 3 g A
Fill in the blanks in the following sentences with approprlate indeclinable
words given in the box below : : 1x6=6

P ——
@

iy s g

vy e
o s

Wﬁ@@ﬂw

52/1 - 9 [P.T.O.




/

10.

52/1

efeehed s ShrdaeET forem e g |
Tow e foreneat § 4 3o wemae g ame quf Sifs |

Choose the correct numerical words from the options given below and

complete the sentences. | . 1x4=4
(1) ....... (2) ......... E‘_‘ﬁm ﬁ |
#) 3 (@) &
(M = o (%) g
@ a (4) ....... e T | | |
() = . - (@) FEm
(1) TR (91) =guin|
ity TR T e |
(=) foa: | (@) 7=
(M) ffr | (=) B
(v 3 T R
(F) ugf: (W) vgER
(M) u=g (@) wml

sefaiaaaTRy i’@'l'%,dqd*:l\ ISR, dﬂ{-dl 3%1?!11 IW ma%a@w e
LTS g fored

= fora T ARt # Yt ue W%\ﬁqmﬁwﬁﬁﬁzﬁaww
IS TS I FENTHE F fAReT

Choose the correct answer from the given options and correct the

underlined incorrect words in the following sentences : . 1x4=4
(%) <t fermef Teaf ¢
() TR (i) T
(i) TS (iv) T3t |
(@) o STfereRt: shaT i ? |
| @ @@ Gi) @

(i) K (iv) ®: 1

- 10




QECICIEESRE

M @ (i) ZTH
(111) ERES (iv) d:|
(sr) SH1: e ¥4 T | |
(i) g (i) Y
(i) I (iv) s |
e ‘o’
(Section D)
ufSa- srasty=y (vfsa- stasne) 28 ITE:

(Reading Comprehension)
11.'_ ,‘amm,m-,mammmma:
- Freafoafaa weme, wemer SR AT ot wee fiw T St ok 3w iR -
Read the following prose, poetry and drama passages and answer the
questions given below : ’
(1) werram:

mwgaﬂw LRE @l@@%n?ﬁﬁquafwmﬁlm
ST AR YUHTHT: | ARAHTETT ATHT T TeraTt | g
I AEE WAl dig A a9 e A waid | a&méﬁnﬁ{fﬁw
[EEEGERCIRIEIT mmwm%& e |

[ UHUed Sl
Teh U § IR 1N |

Answer in one word. ' Vax2=1

(i) RIS Shal & ST T: ¢
(i) iﬁmﬁaﬁwmmﬁwﬁr?

I qoiames |
ot =Rt & ST |

Answer in a complete sentence. o Ix2=2

TR IHTEFT AT o SrergTie 7

- 52/1 11 | [P.T.O.



m fcer: fey s fen fea )
Torpedt o @ 3fea I T T |-

Choose the correct answer from the given options and write the
same. ; ' ' Yax2=1

(%) o “vaR < Brae v e ot 7
0 & ” |
(i) e
(i) ITEUR,
Gv) o |
(@) 3 3 ogEaTeEs ue e Rty 3T WY 7
() IIEEE
(i) T&&
(iii) SfeomIe
| (iv) T 3f e |
() u=mTIT: | |
Targan e o e Aty yag AR
Hﬁ@:w:wﬁ:ﬁra&m:n |
1 ReASEl
% e H I dfm)

Answer in one word. | - ) Vax2=]
() =t fE e |

| Gi) ‘TR ataT sEwar siFam?

I ool 3| |
9l e § S AN

Answer in a complete sentence. 1x2=

| ‘T a1t = STaar va uneay g% el
M fasretsy: 3foay 3w fean fa@a |

Taepedt o @ 3fua s e il
Choose the correct answer from the given thions and write the
same. | : o 1 xD=

52/1 12
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() ‘o’ <R B B R 7

(|) ATt
ehTeh:

- HTE:

(i) HIHH:
(i) TEEhdl
(iii) weaq | :
(@) Wgﬁrw%ﬁwﬁmww?
() Tem
- (ii) AR
- (i) =

- (ufaw, geien) o 3 SRt st ? Al 3tE el afd
%ﬂmwavfaﬁgsr?%ﬁmg%awaﬁ g ? Pl IE G
3TAT HAATA: | T ShT-ahT mﬁmwa&ﬁwﬁ .
- wyg T At

- g'%ﬁﬁ??mtﬂﬁgw‘aﬁaﬁﬁl
- (lEw) Fage 'aﬁmgwmtm@aw
gay: |

T - W aﬁw'wﬁa@?xaﬁﬁﬁmm@mﬁ |

Bl

THRUM |

ThISH I |
Teh 92 H I fRMU |

Answer in one word. ' 1ax2=1

Q) e g 7

(ii) 3T LT FF 7599 7

quieTerR IO |

gui a7 1 I foafew |

Answer in a complete sentence. , . , 1x2=2

hTeh: oh: YEIT ST, I Jaierfe 7

13 - [P.T.O.



e 3P s e frea |
ferereai #f © 3fea SR Frew fafan |
Choose the correct answer from the options given below and
" write the same. ' Yax2=1
() oTeHd geEE gaAw: | gfa A ey uémnqawﬁw?
(%) TsEEE
(@) T
(1) HTREE
(%) Fem | |
(i) ‘O 3 raTIee s TR TRy ?
(%) e |
(@) FH:
() @R
() TerEE |

12, svefeamh: s waf v R fre e |
freferere St o o1 wgfirm e fo o R 8 & e Rl

Choose the correct gist of the following two sentences from the given
options and write the same. 4 C1x2=2

() 3T Torm= | JTTvET aefon: & |

() Taamen: staveRar 7 A | I - e ghwfestag -

(i) o 3TTergaeRdT 1 ST 31fug Sde stravaskar 1fed |

(iii) ﬁwqwﬁmlﬁnﬁgéﬁ&am@wm|%ms€aﬁ%ﬂ
(@) arEag e T e EETR: |
| aﬁﬁuﬁwﬁﬁwﬁ{aﬁn

() H HaF Age: Ta A | g s erfed T Hf

(i) H= EETeOr FEreT: Sh: ° WAl | | 9Ty I sy F egafd |

qEI HET Y AT wafd |

- 52/1 ‘ 14
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14.

52/1

(i) = r:ﬁaﬁa@t SRigeh: QWY = ATefs: wafd a&r 3 ey
FATMY 7 foRepr: wafy) -

oS 3feay e Ferean stefeRaaves gae s T - -
o & 3 ve g Frfrfaa St et % o ot g

Complete the prose-order of the following two shlokas by choosing
appropriate words given in the box below : ‘ ' V2x8=4

() STl o T w7k e E S|

3t Tt oo | aedaq s a

(@) sty it f3, givtw s |
SfeT: g Higwdi, et : T ||

YETfeduaT Sy SeHT g |

i W 3 s S Fi i

Frame the questions on the basis of the underlined words. | 1x4=4
() TR TS IO |

(i) TR Y FaT: Wa | .

(iii) w:_qw_qig@masn%aﬁ%rﬁ|

(1v) Yo &s¥: Sq: | -

15 | | [P.T.O.



15.

16.

52/1

Sy T e e

- Tamicrfiae s =1 s o shATgE ferf

Write the following sentences in their seqUential order : . 72x8=4
(i) e AW gugfs: w@amwmw: l

(i) ¥ grgfie e agEw

(111) g"ﬁ@%{ T3 o1 a: Wﬂéﬁﬁ@ﬂ%’ml

(iv) weha g T o =i e |

™) aaaﬂvﬁﬁaamww%%wém—@@ gavi—%m fE |

(vi) WTRITET: TRESIER &: TRANT SRS e |
(vii) IR mwaﬁmv&gﬁmml

(viii) Wﬁamaaﬁwmm:%ﬁwﬁm@qmﬁ{

ETfEaer yewTger o1ef faeen foea |

 Yegifiha ot 3 a1 SRR g Rl
- Choose the correct contextual meaningr of the underlined words énd write
the same. ‘ [x2=2
@ e gt e | | |
(%) tngEe
(@) &
(1) SgedH |
(if) =8 ! ST o 2 awwﬁtu
(%) T,
(@) e
(M) TG wes A
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